
Question Pool ,Mathematics X, Revision

Module 2017–2018

1. kwJymt{iWnIfpw _oPKWnXhpw Numrical se-
quences and its algebraic form

1 1apXð XpSÀ¨bmb F®ðkwJyIsf XpSÀ -̈

bmbn csï®w hoXw Iq«n t{iWn FgpXpI. Cu

t{iWnbpsS _oPKWnXcq]w FgpXpI

The natural numbers from 1 are added two
at a time in an order and make a sequence.
Write the sequence and write an arithmetic
sequence (SCERT Pool)

2 Xmsg sImSp‾ncn¡pó Nn{X§Ä t\m¡pI.

cïv _nµp¡Ä Hcp Rm¬ cq]oIcn¡póp. aqóv

_nµp¡Ä aqóv RmWpIÄ cq]oIcn¡póp.

\mev _nµp¡Ä tNÀóv Bdv RmWpIÄ cq]o-

Icn¡póp. RmWpIfpsS F®w t{iWnbmbn

FgpXpI.Cu t{iWnbpsS _oPKWnXw FgpXpI

Look at the figure . Two points on a
circle form a chord. Three points make
three chords. Four points make six
points . Write the sequence of num-
ber of chords ,write its algebraic sequence

3 1, 3, 6, 10 · · · .
Write the algebraic form of the sequence
1, 3, 6, 10 · · · . Find the largest three digit
number of this sequence

4 2, 5, 10, 17 · · ·Fó kwJymt{iWnbpsS XpSÀóp-

Å aqóv ]Z§Ä FgpXpI. t{iWnbpsS _oPK-

WnXw F´v ?

Write three more terms of the sequence
2, 5, 10, 17 · · · . Write its algebraic form

2. kam´ct{iWnIfpw _oPKWnXhpw

Arithmetic Sequence and its common difference

1 4, 8, 12, 16 · · ·Fó kam´ct{iWnbpsS s]mXp-

hyXymkw F{X? _oPKWnXcq]w FgpXpI

Write the common difference of the arith-
metic sequence 4, 8, 12, 16 · · · . Write its al-
gebraic form

2 20, 17, 14, 11 · · ·Fó kam´ct{iWnbpsS s]m-

XphyXymkw F{X? _oPKWnXcq]w FgpXpI. ]-

‾mas‾ ]Zw F{X?

What is the common difference of the se-
quence 20, 17, 14, 11 · · · ? Write its alge-
braic form

3 �, 38,�,�,�,−22Fó kam´ct{iWnbnse

hn«pt]mb ]Z§Ä FgpXpI

Write the missing terms of the arithmetic
sequence �, 38,�,�,�,−22

4 −117,−114,−111 · · ·Fó kam´ct{i-

WnbpsS _oPKWnXcq]w FgpXpI. Cu

t{iWnbpsS 30as‾ ]Zw F{X?

Write the algebraic form of the sequence
−117,−114,−111 · · · . Write 30th term

5 3n− 7FóXv Hcp kwJymt{iWnbpsS _oPKWn-
Xcq]amWv. CXv kam´ct{iWnbmtWm? BsW-

¦nð t{iWnbpsS Ccp]‾naqómas‾ ]Zw IW-

¡m¡pI

3n−7 is the algebraic form of the sequence.
Is this an arithmetic sequence? If it is an
AS,then what is its 30 th term?

3. kam´ct{iWnbpsS {]tXyIXIÄ

Properties of arithmetic sequence

1 12, 17, 22 · · ·Fó kam´ct{iWnbpsS BZy-

s‾ aqó¡]Zw GXv ? 100 Cu t{iWnbnse

]Zambncn¡ptam?

Find the first three digit term of the se-
quence 12, 17, 22 · · · . Is 100 a term of this
sequence?

2 1, 7, 13 · · ·Fó kam´ct{iWnbpsS cïv ]Z-

§Ä X½nepÅ hyXymkw 234BIptam?

Can the difference between two terms of the
sequence 1, 7, 13 · · · be 234. Explain

3 Hcp kam´ct{iWnbpsS 5 as‾ ]Zw 16BWv

. BZy]Z‾nsâbpw H³]Xmas‾ ]Z‾nsâbpw

XpI IW¡m¡pI

The fifth term of an arithmetic sequence is
16. What is the sum of first term and ninth
term of this sequence?

4 Aôp]Z§fpÅ , ]Z§fpsS XpI 100Bb k-

am´ct{iWn FgpXpI.C‾cw F{X t{iWnIÄ

FgpXmw

Write an arithmetic sequence having 5
terms , sum of the terms is 100. How many
such sequences are possible ?

5 Hcp a«{XntImW‾nsâ tImWpIÄ kam´ct{i-

WnbnemWv . Bhiyamb kahmIy§Ä cq]oIcn-

¨v tImWpIÄ IW¡m¡pI
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The angles of a right angled triangle are in
arithmetic sequence. Find the angles using
sufficient equations

6 Hcp ]ô`pP‾nsâ tImWpIÄ kam´ct{iWn-

bnemWv . Gähpw sNdnb tIm¬ 36◦bnepw
IqSpXembncn¡psaóv sXfnbn¡pI

The angles of a pentagon are in an arith-
metic sequence. Prove that the smallest
angle is greater than 36◦

7 Hcp kam´ct{iWnbpsS BZy]Zw 1

3
, s]mXphy-

Xymkw 1

6
.Cu t{iWnbnð Fñm F®ðkwJyIfpw

DïmIpsaóv sXfnbn¡pI.

The first term of an arithmetic sequence is
1

3
, common difference 1

6
. Prove that it con-

tains all natural numbers

8 5, 8, 11 · · ·Fó kam´ct{iWnbnð ]qÀ®hÀ¤-

§fpïmInñ Fóv sXfnbn¡pI

Prove that 5, 8, 11 · · · contains no perfect
squares

9 Hcp NXpÀ`pP‾nsâ tImWpIÄ kam´ct{iWn-

bnemWv . Gähpw sNdnbtIm¬ 108◦Bbmð

tImWpIÄ IW¡m¡pI

The angles of a quadrilateral are in arith-
metic sequence. The largest angle is 108◦.
Find the angles

10 Hcp kam´ct{iWnbpsS aqómw ]Zhpw Aômw

]Zhpw X½nepÅ Awi_Ôw 2 : 5Bbmð

Ggmw]Zhpw H³]Xmw ]Zhpw X½nepÅ Awi_-

Ôw IW¡m¡pI

The ratio of third and fifth terms of an
arithmetic sequence is 2 : 5. What is the
ratio of seventh and ninth terms?

11 kam´ct{iWnbpsS cïmw]Zw 13, Aômw ]Zw

25Bbmð Ggmas‾ ]Zw IW¡m¡pI

The second term of an arithmetic sequence
is 13 , fifth term is 25, find seventh term

12 ]Z§sfñmw F®ðkwJyIfmb kam´ct{iWn-

bnð Hcp ]Zw F®ðkwJy Bbmð At\Iw

]qÀ®kwJym]Z§fpsïóv sXfnbn¡pI

In an arithmetic sequence having terms
natural numbers if one of the terms is a
perfect square then it contains many per-
fect square terms

4. kam´ct{iWnbpsS _oPKWnXcq]‾nsâ D]tbmK-

§Ä

Uses of algebraic form

1 3, 10, 17 · · · 346Fó kam´ct{iWnbnð F{X

]Z§fpïmbncn¡pw ? 409 Cu t{iWnbnse ]Z-
amtWm?

How many terms are there in the sequence
3, 10, 17 · · · 346? Is 409 a term of this se-
quence?

2 200\pw 500\pw CSbnð 7sImïv lcn¨mð aqóv

inãw hcpó F{X kwJyIÄ DïmIpw ?

How many numbers are there in between
200 and 500 which leaves the remainder 3
on dividing by 7?

3 5000cq] 8iXam\w km[mcW]enibnð \nt£-

]n¨p. Hmtcm hÀjhkm\s‾bpw ]eni t{iWn-

bmbn FgpXpI. CXv Hcp kam´ct{iWn BIp-

tam? ]‾mas‾ hÀjmhkm\s‾ ]eni IW-

¡m¡pI

A man made a fixed deposit in a bank pro-
viding simple interest at the rate 8 percent-
age per year . Write the amount of interest
at the end of each year as a sequence .

4 2n − 1, 3n + 2, 6n − 1Fónh kam´ct{iWn-

bnemWv . nIW¡m¡pI. t{iWn FgpXpI . B

t{iWnbpsS 34as‾ ]Zw F{X?

If 2n− 1, 3n+2, 6n− 1 are the terms of an
arithmetic sequence then find n. Write the
sequence , find its 34 th term

5 9, 7, 5 · · ·Fó t{iWnbv¡pw 24, 21, 18 · · ·Fó
t{iWnbv¡pw s]mXphmb ]Zw IW¡m¡pI

Find the term common to the sequences
9, 7, 5 · · · and 24, 21, 18 · · ·

6 Hcp kam´ct{iWnbpsS Aômw]Z‾nsâ-

bpw H³]Xmw]Z‾nsâbpw XpI 72BWv .

Ggmw]Z‾nsâbpw ]{´ïmw]Z‾nsâbpw XpI

97Bbmð t{iWn FgpXpI

The sum of fifth and ninth terms of an
arithmetic sequence is 72. The sum of sev-
enth and twelth terms is 97. Write the se-
quence

7 Hcp kam´ct{iWnbpsS Aômw]Z‾nsâ

Aôv aS§v ]‾mw ]Z‾nsâ ]‾v aS§n\v

Xpeyambmð ]Xn\ômw ]Zw F{X?BZys‾ ]Xn-

\ôv ]Z§fpsS KpW\^ew F{X?

Five times fifth term of a sequence is equal
to ten times tenth term. What is its fif-
teenth term? What is the product of first
fifteen terms ?

8 16, 23, 30 · · · 569Fó kam´ct{iWnbnð F{X

kwJyIÄ Dïmbncn¡pw ?

How many terms are there in the sequence
16, 23, 30 · · · 569?

9 2, 7, 12 · · · 127Fó kam´ct{iWnbnse he-

s‾ Aä‾p\nópw 23as‾Øm\‾pÅ kwJy

GXv ?

Find the 23rd term from right end of the
sequence 2, 7, 12 · · · 127

11 a, b, ckam´ct{iWnbnemWv . a − b = k(c −
a)Bbmð kbpsS hne IW¡m¡pI
If a, b, c are in arithmetic sequence, a− b =
k(c− a) find the value of k
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12 1, 3, 5 · · ·Fó kam´ct{iWnbpsS GXp]Z‾n-

sâbpw hÀ¤w Cu t{iWnbnse ]Zambncn¡psaóv

sXfnbn¡pI

Prove that the square of the terms of the se-
quence 1, 3, 5 · · · also a term of this sequence

13 Hcp {XntImW‾nsâ tImWpIÄ kam´ct{iWn-

bnemWv . Gähpw henb tIm¬ Gähpw sNdnb

tImWnsâ cïv aS§mWv .tImWpIÄ IW¡m-

¡pI

The angles of a triangle are in an arithmetic
sequence. The largest angle is twice the
smallest angle . Find the angles

5. F®ðkwJyIÄ, HäkwJyIÄ , Cc«kwJyIÄ Fónh

cq]oIcn¡pó t{iWnIÄ

Natural numbers , odd numbers and even num-
bers

1 1apXð 50hscbpÅ F®ðkwJyIfpsS XpI

F{X?.CXp]tbmKn¨v BZys‾ 50Cc«kwIyI-
fpsS XpI IW¡m¡pI

Find the sum the natural numbers from 1
to 50. Using this calculate the sum of first
50 even numbers

2 BZys‾ nHäkwJyIfpsS XpI F{X? 100\pw
200\pw CSbnepÅ HäkwJyIfpsS XpI IW¡m-

¡pI

What is the sum of first n odd numbers
?Calculate the sum of odd numbers from
100 to 200

3 Hcp hr‾‾nð 11Ip‾pIÄ C«ncn¡póp .

Chsb ]ckv]cw tbmPn¸n¨v F{X RmWpIÄ

hc¡m³ km[n¡pw ?

How many chords can be drawn by joining
11 points on a circle ?

4 (−2)+(−4)+(−6)+ · · · (−126)sâ hne IW-
¡m¡pI

Calculate the sum (−2) + (−4) + (−6) +
· · · (−126)

5 200\pw 600\pw CSbnepÅ 7sâ KpWnX§fpsS

F®hpw XpIbpw IW¡m¡pI

Calculate the number and sum of all mul-
tiples of 7 in between 200 and500

6 BZys‾ 30HäkwJyIfpsS XpI F{X?
Calculate the sum of first 30 odd numbers

7 Xmsg sImSp‾ncn¡pó ]mäWnse ap¸Xmas‾

hcnbnse kwJyIfpsS F®w, ap¸Xmw hcn-

bnse Ahkm\kwJy, ap¸Xmw hcnbnse BZy-

s‾kwJy, ap¸Xv hcnIfnembn FgpXnbncn¡pó

kwJyIfpsS XpI Fónh IW¡m¡pI

Find the number of numbers in the 30th
line of this pattern. Which number comes
in the right end and in the left end of this
pattern. Calculate the sum of numbers in
all 30 lines

6. kam´ct{iWnbnse ]Z§fpsS XpI Sum of the
terms of an arithmetic sequence

1 8, 3,−2 · · ·Fó kam´ct{iWnbpsS BZys‾

22]Z§fpsS XpI IW¡m¡pI
Find the sum of first 22 terms of the se-
quence 8, 3,−2 · · ·

2 Hcp kam´ct{iWnbpsS _oPKWnXw 3 +
2nBWv . t{iWnbpsS BZys‾ 24]Z§fpsS
XpI IW¡m¡pI

The algebraic form of an arithmetic se-
quence is 3 + 2n. Calculate the sum of 24
terms

3 kam´ct{iWnbpsS BZys‾ ]‾v ]Z§fpsS

XpI 140BWv. BZys‾ ]Xn\mdv ]Z§fpsS

XpI 320BWv . BZys‾ n]Z§fpsS XpI I-

W¡m¡pI

The sum of first 10terms of an arithmetic
sequence is 140. The sum of the first
16terms is 320. Find the sum of first n
terms

4 kam´ct{iWnbpsS BZys‾ n ]Z§fpsS XpI
6n + 7n2BWv. t{iWn FgpXpI . t{iWnbpsS

_oPKWnXw FgpXpI

5 Hcp kam´ct{iWnbpsS _oPKWnXcq]w 3n2+
5nBWv. Cu t{iWnbpsS ]‾mas‾ ]Zw apXð

50as‾ ]Zw hscbpÅ ]Z§fpsS XpI IW¡m-

¡pI

6 kam´ct{iWnbpsS nas‾ ]Zw 1 − 4nBWv.

Cu t{iWnbpsS BZys‾ 25]Z§fpsS XpI I-

W¡m¡pI

7 kam´ct{iWnbpsS BZys‾ n]Z§fpsS XpI
n(4n + 1)BWv. t{iWnbpsS _oPKWnXcq]w

FgpXpI.t{iWn FgpXpI

8 −4

3
,−1, −2

3
· · · 41

3
Fó kam´ct{iWnbpsS ]Z-

§fpsS F®w IW¡m¡pI. Cu t{iWnbnse ]-

Z§fpsS XpI F{X? XpIbpsS _oPKWnXcq]w

FgpXpI

9 1 + 4 + 7 + 10 + · · ·+ x = 287Bbmð xIW-
¡m¡pI

10 100\pw 300\pw CSbnð 7sImïv lcn¨mð in-

ãw 3hcpó F{X kwJyIÄ Dïv . AhbpsS

XpI F{XbmWv ?
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7. AÀ²hr‾‾n\v AI‾pw ]pd‾pw AÀ²hr‾‾n-

epw hc¡pó tImWpIfpsS AfhpIÄ

Angles inside , outside and on a semicircle

1 ka`pP{XntImW‾nsâ hiw hymkam¡n hc¡p-

ó hr‾s‾ASnØm\am¡n FXnÀioÀj‾nsâ

Øm\w FhnsSbmWv ?

What is the position of one vertex of an
equilateral triangle based on a circle with
opposite side as the diameter

2 {XntImWw ABCbnð AB = 12skâoaoäÀ ,

AC = 5skâoaoäÀ , BC = 13 skâoaoäÀ

Bbmð Cu {XntImWw GXv Xcw {XntImWam-

Wv. Hmtcm hihpw hymkam¡n hc¡pó hr‾-

s‾ ASnØm\am¡n FXnÀioÀj‾nsâ Øm\w

FhnsSbmWv ?

In triangle ABC,AB = 12cm , ACcm,
BC = 13cm .What kind of triangle is this?
What is the position of one a vertex based
on the circle with opposit side as the diam-
eter

3 {XntImW‾nsâ tImWpIÄ 1 : 2 : 3 Bbmð

AXv GXpXcw {XntImWw BWv. aqóphi§fpw

hymkam¡n hc¡pó hr‾s‾ ASnØm\am¡n

FXnÀioÀj§fpsS Øm\w FhnsSbmWv ?

In triangle ABC angles are in the ratio 1 :
2 : 3 . What is the position of vertex of the
triangle based on the opposite side as the
diameter

4 ABCDFó NXpÀ`pP‾nð tIm¬ A = 120◦,
∠C = 60◦, ∠B = 70◦. tIm¬ DbpsS Af-
hv F{XbmWv ? ACFó hnIÀ®w hymkam¡n

hc¡pó hr‾s‾ ASnØm\am¡n BbpsSbpw
DbpsSbpw Øm\w FhnsSbmWv ?

BDFó hnIÀ®w hymkam¡n hc¡pó hr‾-

s‾ ASnØm\am¡n AbpsSbpw CbpsSbpw
Øm\w FhnsSbmWv ?

In the quadrilateral ABCD, ∠A = 120◦,
∠C = 60◦,∠B = 70◦. What is the measure
of ∠D? What is the position of B and D
based on the circle with AC as the diame-
ter? What is the position of A and C based
on the circle with BD as the diameter?

5 Nn{X‾nð ABhymkamWv. tIm¬ APB ,
tIm¬ AQB , tIm¬ ARBFónh kam´ct{i-
WnbnemWv. tIm¬ R = 35◦Bbmð aäv cïv

tImWpIfpw FgpXpI

8. hr‾‾nse Nm]w \nÀ®bn¡pó aqópXcw tImWpIÄ

, Ah X½nepÅ _Ôw

1 Xmsg sImSp‾ncn¡pó Nn{X‾nð OABCHcp
kmam´coIamWv. Hcp ioÀjw hr‾tI{µ‾nepw

aäv aqóp ioÀj§Ä hr‾‾nepambmð kmam´-

coI‾nsâ tImWpIÄ IW¡m¡pI

In the figure OABCis a parallelogram. One
vertex is at the center and other vertices
are on the circle. Find the angles of the
parallelogram

2 Nn{X‾nð x, y, zFóo tImWpIÄ ASbmfs¸Sp-
‾nbncn¡póp. x = y + zFóv sXfnbn¡pI
The angles x, y, z are marked in the figure.
Prove that x = y + z

3 Nn{X‾n\nópw 2(∠DBC + ∠DCB) =
∠BOCFóv sXfnbn¡pI.
tIm¬ DBC = 30◦,∠DCB = 20◦Bbmð

tIm¬ BOD, tIm¬ BAC , tIm¬

BDCFónh IW¡m¡pI
Prove that 2(∠DBC + ∠DCB) = ∠BOC.
If DBC = 30◦,∠DCB = 20◦ find
∠BOD,∠BAC,∠BDC.

4 ABCDHcp kaNXpcamWv. tIm¬ DEC ,
tIm¬ DFCIW¡m¡pI
In the figure ABCD is a square. Find
∠DEC,∠DFC.

5 Nn{X‾nð x, y, zkam´ct{iWnbnem-
Wv.x, y, zIW¡m¡pI
In the figure x, y, z are in an arithmetic
sequence. Find the angles x.y andz
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9. N{IobNXpÀ`pPhpambn _Ôs¸« {]iv\§Ä

Cyclic quadrilaterals

1 Hcp NXpÀ`pP‾nsâ tImWpIfpsS ka`mPnIÄ

tNÀóv Hcp NXpÀ`pPw DïmIpIbmsW¦nð

AXv Hcp N{IobNXpÀ`pPw BsWóv sXfnbn-

¡I

If the bisectors of the angles of a quadrilat-
eral form another quadrilateral then it will
be a cyclic quadrilateral. Prove !

2 Hcp NXpÀ`pP‾nsâ Hcp tPmSn FXnÀhi§Ä

kam´c§fpw aäpcïv hi§Ä XpeyhpamWv.

Cu NXpÀ`pP‾nsâ t]sc´v ? Cu NXpÀ`p-

Pw N{IobNXpÀ`pPamsWóv sXfnbn¡pI.

A pair of opposite sides of a quarilateral
are parallel and other two sides are equal.
Prove that it is a cyclic quadrilateral

3 N{Iobew_Iw ka]mÀizew_IamsWóv sXfnbn-

¡pI

Prove that cyclic trapezium is an isosceles
trapezium

4 hnIÀ®§Ä Xpeyamb ew_Iw N{IobNXpÀ`pP-

amsWóv sXfnbn¡pI

Prove that if the diagonals of a trapezium
are equal prove that it is cyclic

5 {XntImWw ABCbnð ABbpsS a[y_nµphm-

Wv D, ACbpsS a[y_nµphmWv EF¦nð
BDECFó NXpÀ`pPw N{IobNXpXpÀ`pPam-

sWóv sXfnbn¡pI.

In triangle ABC, D is the mid point of
AB, E is the mid point of AC. Prove that
BDEC is cyclic

10. RmWpIÄ hr‾‾n\pÅnepw hr‾‾n\v ]pd‾pw J-

Þn¡póXnð \nópïmIpó PymanXob _Ôw

Interecting chords inside and outside the circle

1 hr‾‾nse cïv RmWpIÄ ABbpw CDbpw hr-
‾‾n\I‾v Pbnð JÞn¡póp. PA×PB =
PC × PDFóv sXfnbn¡pI
Two chords AB and CD intersect inside a
circle. Prove that PA× PB = PC × PD.

3 AB CD P . Prove that PA × PB =
PC × PD
Two chords AB and CD intersect outside
a circle. Prove that PA×PB = PC×PD.

4 Xmsg sImSp‾ncn¡pó Nn{X‾nð AB ,
CDFóo RmWpIÄ \o«nbt¸mÄ hr‾‾n\v ]p-

d‾v Pbnð JÞn¡póp. PA = PCBbmð

cïv RmWpIfpw Xpey\ofapÅhbmsWóv sXfn-

bn¡pI

In the figure the chords ABand CD meet
at P outside the circle. If PA = PCthen
prove that AB = CD.

5 Nn{X‾nð AEFó hc CBbv¡v ew_amWv.
AB = 5skâoaoäÀ , BD = 4skâoaoäÀ ,

CD = 9skâoaoäÀ Bbmð DEF{X?
In the figure AEis perpendicular to CB
AB = 5cm, BD = 4cm, CD = 9cm, find
DE

11. hr‾§fpambn _Ôs¸« PymanXob \nÀ½nXnIÄ

Geometrical Constructions

1 4skâoaoäÀ BcapÅ hr‾w hc¡pI. AXnð

ioÀj§Ä hcpó hn[w 50◦, 60◦ hoXw tImWp-
Å {XntImWw hc¡pI

Draw a circle of radius 4cm, Construct a
triangle whose two angles are 50◦, 60◦ and
its vertices are on the circle .

2 Hcp hr‾w hc¨v AXnð 30◦, 60◦hoXapÅ tIm-

WpIÄ hc¡pI

Construct 30◦ angle and 150◦ angle in a cir-
cle

3 hr‾w hc¨v AXnð 45◦, 135◦hoXapÅ tImWp-

IÄ hc¡pI

Construct 45◦ angle and 135◦ angle in a cir-
cle

4 Hcp hr‾w hc¨v AXnð 221

2

◦

tIm¬ hc¡pI

Draw a circle and construct 221

2

◦

on the cir-
cle

5 5skâoaoäÀ , 4skâoaoäÀ hoXw hiapÅ NXpcw

hc¡pI. AXn\v Xpeyamb ]c¸fhpÅXpw Hcp

hiw 6skâoaoäÀ DÅXpamb NXpcw \nÀ½n¡pI

Draw a circle of sides 5cm and 4cm. Con-
struct a rectangle whose area equal to the
area of the first rectangle and one side6cm

6
√
12skâoaoäÀ \ofapÅ hc hc¡pI.Cu hc h-

iam¡n kaNXpcw hc¡pI. kaNXpc‾nsâ ]c-

¸fhv F{X?

Draw a line of length
√
12cm. Construct a

square whose side is
√
12. What is its area

?
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7 Hcp hr‾w hc¨v hymk‾n\v ew_ambn
√
48sk-

âoaoäÀ \ofapÅ Hcp Rm¬ hc¡pI

Draw a circle and construct a chord per-
pendicular to the diameter having length√
48

8 \ofhpw hoXnbpw 6skâaoäÀ , 4skâaoäÀ hoX-
apÅ NXpcw hc¡pI. Cu NXpc‾n\v Xpeyamb

]c¸fhpÅ kaNXpcw hc¡pI

Draw a rectangle of length 6cm and breadth
4cm. Construct a square whose area equal
to area of the rectangle

9 \ofhpw hoXnbpw 6skâaoäÀ , 4skâaoäÀ hoX-
apÅ NXpcw hc¡pI.CtX ]c¸fhpw Hcphhiw

7skâaoädpw Bb asämcp NXpcw hc¡pI

Draw a rectangle of length 6 cm and
breadth 4cm. Construct another rectangle
whose area equal to area of the given rect-
angle and one of its sides is 7cm

10 \ofhpw hoXnbpw 6skâaoäÀ , 4skâaoäÀ hoX-
apÅ NXpcw hc¡pI.CtX ]c¸fhpw Hcphhiw

3skâaoädpw Bb asämcp NXpcw hc¡pI

Draw a rectangle of length 6 cm and
breadth 4cm. Construct another rectangle
whose area equal to area of the given rect-
angle and one of its sides is 3cm

11
√
6skâoaoäÀ hi‾nsâ \ofapÅ ka`pP{Xn-

tImWw hc¡pI.

Draw an equilateral triangle of side
√
6

12 6NXpc{i skâaoäÀ ]c¸fhpÅ kaNXpcw hc-

¡pI

Draw a square of area 6square cm .

13 ]c¸fhv 21NXpc{i skâaoäÀ Bb kaNXpcw

hc¡pI

Construct a rectangle having area 21 square
centimeter

14 hi§Ä 6skâaoäÀ , 4skâaoäÀ , Ahbv¡nSbn-
epÅ tIm¬ 60◦ . {XntImWw hc¨v Xpey]c¸f-
hpÅ kaNXpcw \nÀ½n¡pI

The sides of a triangle are 6cm and 4cm .
The angle between these sides is 60◦. Draw
a triangle and construct a square whose
area equal to area of the triangle

15 5skâoaoäÀ hiapÅka`qP{XntImWw hc¨v Xp-

ey ]c¸fhpÅ kaNXpcw \nÀ½n¡pI

Draw an equilateral triangle of side 5cm .
Construct a square whose area equal to area
of the triangle

16 3skâaoäÀ DóXnbpÅ ka`pP{XntImWw hc-

¡pI

Draw an equilateral triangle of altitude 3cm

12. km[yXbpambn _Ôs¸« efnXamb kwJym{]iv\§Ä

Simple problems based on probability

1 Hcp s]«nbnð 1apXð 25hscbpÅ F®ðkwJy-

IÄ sNdnb ISemkpIfnembn FgpXnbn«ncn¡p-

óp. CXnð\nópw t\m¡msX Hsc®w FSp‾mð

AXv A`mPykwJy BIm\pÅ km[yX IW¡m-

¡pI

The natural numbers from 1to 25 are writ-
ten in small paper pieces and placed in a
box. One of them is taken without looking
into the box. What is the probability of
getting a prime number

2 3, 4, 5Fóo kwJyIÄ Hmtcmópw Hmtcm ISem-

kpIfnð FgpXn Hcp s]«nbnð C«ncn¡póp.
1

2
, 1
3
, 1
4
Fóo `nókwJyIÄ asämcp s]«nbnð sN-

dnb ISemkpIfnð FgpXnbn«ncn¡póp. Cu c-

ïv s]«nIfnð\nópw Hmtcmóv hoXw t\m¡msX

FSp‾v KpW\^ew ImWpóp. KpW\^ew Hcp

F®ðkwJy BIm\pÅ km[yX IW¡m¡pI.

The numbers are written in another paper
pieces and placed in another box. One is
taken from each box at random. What is
the probability of getting the prduct an in-
teger

3 Hcp _mKnð ]‾v Nphó t_mfpIfpw ]‾v \oe

t_mfpIfpw Dïv . AXnð\nópw t\m¡msX Hsc-

®w FSp‾mð In«póXv Nphó t_mÄ BIm\p-

Å km[yX IW¡m¡pI. In«póXv Nph¸v BIm-

Xncn¡m\pÅ km[yX IW¡m¡pI

A bag contains ten red balls and 10 blue
balls. One ball is taken from the box at
random. What is the probability of getting
red? What is the probability of not getting
red?

4 Hcp s]«nbnð 24ap‾pIfpïv . AXnð Ipd-

¨v ap‾pIÄ ]¨bpw _m¡nbpÅh \oebpamWv.

AXnð\nópw t\m¡msX Hsc®w FSp‾mð ]¨

In«m\pÅ km[yX 2

3
BWv. s]«nbnðBsI F{X

t_mfpIÄ Dïmbncpóp.

A bag contains 24 balls. Some of them are
green and others are blue. The probability
of getting green when one is taken at ran-
dom is 2

3
. How many balls are there in the

bag?

5 Hcp Icp Fdnbpóp. 36sâ LSIañm‾ kwJy

In«póXn\pÅ km[yX F{X?

A dice is thrown . What is the probability
of getting not a factor of 36?

6 −4,−3,−2,−1, 0, 1, 2, 3, 4Fóo kwJyIfpsS

Iq«‾nð\nópw Hcp kwJy FSp¡póp. Cu

kwJysb xsImïv kqNn¸n¨mð | x |< 2BIm-

\pÅ km[yX IW¡m¡pI

Anumber x is chosen from the numbers
−4,−3,−2,−1, 0, 1, 2, 3, 4. What is the
probability that | x |< 2

7 Hcp s]«nbnð ]e\nd‾nepÅ 200ap‾pIfpïv

.Cu s]«nbnð\nópw Hcp aps‾Sp‾mð AXv \o-
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ebmIm\pÅ km[yX 0.98Bbmð AXnð F{X

\oeap‾pIfpïv . s]«nbnð\nópw Ipd¨v \oeap-

‾pIÄ FSp‾v amänbmð \oeap‾v In«m\pÅ

km[yX 0.96BWv. CXnð F{X \oeap‾pIÄ

amänbn«pïmIpw ?

There are 200 beads in a box.One ball is
taken at random . The probability of get-
ting a blue ball is 0.98 Find the number of
blue balls in the box.When some blue balls
are taken out from the ball the probabil-
ity becomes 0.96. How many blue balls are
taken out from the box?

13. km[yXbpambn _Ôs¸« PymanXob{]iv\§Ä

Geometric Problems based on Probability

1 Hcp {XntImW‾nsâ aqóphi§fpsSbpw a[y-

_nµp¡Ä tbmPn¸n¨v atämcp {XntImWw hc¨v

tjUv sNbvXncn¡póp. Cu Nn{X‾ntebv¡v t\m-

¡msX Hcp Ip‾n«mð B Ip‾v tjbvUnð ho-

gm\pÅ km[yX IW¡m¡pI.

A triangle is drawn by joining the mid
points of the sides of a triangle and it is
shaded. A fine dot is placed at random .
What is the probability of falling the dot in
the shade

2 Hcp kajUv`pP‾nsâ CShn«pÅ ioÀj§sf

tbmPn¸n¨v {XntImWw hc¨v tjbvUv sNbvXn-

cn¡póp. CXntebv¡v Hcp Ip‾n«mð B Ip‾v

tjbvUnð hogm\pÅ km[yX IW¡m¡pI

The alternate vertices of a hexagon are
joined together to form a triangle and it
is shaded. A fine dot is placed at random
. What is the probability of falling the dot
in the shade ?

3 Hcp kaNXpc‾nsâ ASp‾Sp‾pÅ cïv h-

i§fpsS a[y_nµp¡fpw FXnÀioÀjhpw tNÀ‾v

{XntImWw hc¨v tjUv sNbvXncn¡póp. CXn-

tebv¡v t\m¡msX Hcp Ip‾n«mð B Ip‾v

tjbvUnð hogm\pÅ km[yX IW¡m¡pI

The mid points of two adjacent sides and
opposite vertex are joined together to form
a triangle and it is shaded. A fine dot is
placed at random. What is the probability
of falling the dot in the shade

4 Hcp AÀ²hr‾w hc¨p. AXnsâ Bcw hymk-

am¡n asämcp AÀ²hr‾w AI‾v hc¡póp.

CSbnepff `mKw tjUv sNbvXncn¡póp. CXn-

tebv¡v Hcp Ip‾n«mð B Ip‾v tjbvUnð

hogm\pÅ km[yX IW¡m¡pI

A semicircle is drawn. Another semicircle
is drawn inside with diameter as the radius
of the first and the region in between them
is shaded. What is the probabilty of falling
the dot in the shade ?

5 Nn{X‾nð ABCDkaNXpcamWv.aqóphi§-
fpsS a[y_nµp¡Ä tbmPn¸n¨v {XntImWw hc¨v

tjUv sNbvXncn¡póp. CXntebv¡v Hcp Ip‾n-

«mð B Ip‾v tjbvUnð hogm\pÅ km[yX

ImWpI

ABCD is a square. A triangle is drawn by
joining the mid points of three sides and it
is shaded. What is the probability of falling
the dot in the shade ?

14. F®ensâASnØm\{]amWw D]tbmKn¡pó km[yXm-

{]iv\§Ä

Problems based on Fundamental Principle of
Counting

1 Hcp s]«nbnð 5Idp‾ t_mfpIfpw 3shfp‾
t_mfpIfpw Dïv . asämcp s]«nbnð 6Idp‾
t_mfpIfpw 4shfp‾ t_mfpIfpw Dïv . c-

ïnð\nópw HmtcmóphoXw FSp¡póp. In«póXv

cïpw Idp¸mIm\pÅ km[yX F{X? cïpw sh-

fp¸mIm\pÅ km[yX F{X? Hcp Idp¸pw Hcp

shfp¸pw BIm\pÅ km[yX F{X?

A box contains 5 black balls and 3 white
balls . Another box contains 6 black balls
and 4 white balls. One ball is taken from
each box at random.What is the probabil-
ity of getting both balls black? What is
the probability of getting both balls white?
What is the probability of getting balls of
different colours

2 Hcp ]m{X‾nð 4Idp‾ ap‾pIfpw 6shfp‾ap-

‾pIfpw 6Nphó ap‾pIfpw Dïv .asämcp ]m{X-

‾nð 7Idp‾ ap‾pIfpw 5shfp‾ ap‾pIfpw

10Nphó ap‾pIfpw Dïv . t\m¡msX Hmtcm ap-

‾phoXw FSp‾mð Htc \nd‾nepÅ ap‾pIÄ

e`n¡m\pÅkm[yX F{X? hyXykvX \nd‾nepÅ

ap‾pIÄ In«m\pÅ km[yX F{X? Hcp Idp‾-

s‾¦nepw In«m\pÅ km[yX F{X?

A box contsins 4 black balls and 6 white
balls and 6 red balls.
Another box contains 7 black balls 5 white
balls and 10 red balls. One ball is taken
fromeach box at random. One ball is
taken from each box at random. What
is the probability of getting balls of same
colour?What is the probability of getting
balls of different colours? What is the prob-
ability of gtting atleast one black ball

3 10Abnð 25B¬Ip«nIfpw 15s]¬Ip«nIfpw

Dïv . 10Bbnð 15B¬Ip«nIfpw 20s]¬Ip-

«nIfpw Dïv . Hmtcm ¢mknð\nópw Hmtcm Ip-

«nIsf hoXw FSp‾mð cïpw B¬Ip«nIfmIm-

\pÅ km[yX F{X?cïpw s]¬Ip«nIfmIm\pÅ

km[yX F{X? Hcp s]¬Ip«nsb¦nepw DïmIm-

\pÅ km[yX F{X?

There are 25boys and 15 girls inXA. There
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are 15 boys and20girls in XB. One from
each clss is selected. What is the proba-
bility of getting both boys? What is the
probability of getting both girls? What is
the probability of getting one boy and one
girl

4 A[nhÀj‾nð 53RmbdmgvN DïmIm\pÅ km-

[yX IW¡m¡pI

What is the probability of getting 53 sun-
days in a leap year

5 Unkw_Àamkw 5Xn¦fmgvN hcm\pÅ km[yX

F{X?

What is the probability of getting 5 Mon-
days on December

6 hÀ¤w XnIª kahmIy§ÄEquations in
which squares are completed

1 Hcp kaNXpc‾nsâ hi‾nsâ \ofw 1Iq«nb-
t¸mÄ ]c¸fhv 144NXpc{i skâoaoäÀ Bbn-

.BZykaNXpc‾nsâ hiw xBbn IW¡m¡n k-

ahmIyw cq]oIcn¡pI.BZykaNXpc‾nsâ hiw

F{X?

When the side of a square is increased by
1, the area of the new square formed is
144.Take the side as x ,form an equation
and find its side

2 1, 3, 5, 7 · · ·Fó kam´ct{iWnbpsS F{Xma-

s‾ ]Z‾nâ hÀ¤amWv 361Fóv IW¡m¡pI
Which term of the sequence
1, 3, 5, 7 · · ·makes its square 361

3 Hcp kaNXpc‾nsâ hi§sfñmw 2aoäÀ Ipd¨v
sNdpXm¡nbt¸mÄ ]c¸fhv 49Bbn. BZys‾

kaNXpc‾nsâ hiw IW¡m¡pI

When the sides of a square is decreased by
2 the area becomes 49. Find the side of the
square.

4 kaNXpcmIrXnbnepÅ Hcp ssaXm\‾nsâ Np-

äpw 2aoäÀ hoXnbnð Hcp ]mXbpïv . ssaXm-

\hpw ]mXbpw tNÀó kaNXpc‾nsâ ]c¸fhv

1225NXpc{iskâaoädmWv. ssaXm\‾nsâ ]c-

¸fhv IW¡m¡pI

A pathway of width 2meter is made around
a square field. The total area of the
pathway and field is 1225 square me-
ter.Calculate the area of the field

5 2, 5, 8 · · ·Fóv XpScpó kam´ct{iWnbpsS

F{Xmas‾ ]Z‾nsâ hÀ¤amWv 2500
Which term of the sequence has its square
2500

6 hmÀjoIambn Iq«p]eni IW¡m¡pó Hcp ]²-

Xnbnð 2000cq] \nt£]n¨p. cïv hÀjw Ign-

ªt¸mÄ 2005cq]bmbn . F{X iXam\amWv

]eni\nc¡v A man deposited 2000 rupees in
a bank . The bank provides interest to the

amount. After 2 years the amount becomes
2005. Calcualte the rate of interest

15. {]iv\]cnlmcw hÀ¤‾nIhneqsS completing the
squares

1 s]mXphyXymkw 2Bb kam´ct{iWnbnse

BZys‾bpw cïmas‾bpw ]Z§fpsS KpW\-

^e‾Sv 1Iq«nbmð 9In«pw. t{iWnIW¡m¡pI
Common difference of an arithmetic se-
quence is 2. If 1 is added to the product of
the first and second terms we get 9. Write
the sequence

2 A\phn\v hn\phnt\¡mÄ 4hbkv IqSpXepïv
.AhcpsS hbkpIfpsS KpW\^e‾Sv 4Iq«n-
bmð 169In«pw. Hmtcmcp‾cpsSbpw hbkv

F{X?

Anu’s age is 4 years more than Vinu’s age.
When 4 is added to their product we get
169. Find their ages

3 Hcp F®ðkwJyIfpsS hÀ¤‾Sv B kwJy-

bpsS sXm«Sp‾ kwJybpsS \mepaS§v Iq«nb-

t¸mÄ 36In«n. kwJy F{XbmWv ?
When 4 times a number is added to the
square of its predecessor, we get 36. Find
the number

4 Hcp kaNXpc‾nsâ ]c¸fhpw AXnt\¡mÄ 1ao-
äÀ hi‾nsâ \ofw Ipdhmb asämcp kaNXp-

c‾nsâ Npäfhpw Htc kwJybmWv. BZys‾

kaNXpc‾nsâ hi‾nsâ \ofw IW¡m¡pI

The area of a square is equal to the perime-
ter of another square whose side length is 1
less than another square. Find the side of
the first square

5 Hcp NXpc‾nsâ \ofw hoXntb¡mÄ 2aoäÀ IqSp-
XemWv. AXnsâ ]c¸fhv 15 NXpc{i skâaoä-
dmWv. NXpc‾nsâ \ofhpw hoXnbpw IW¡m¡p-

I

The length of a rectangle is 2 more than its
breadth. If the area is 15, find the length
and breadth

6 cïv kwJyIfpsS hyXymkw 6BWv. KpW\^ew

16BWv. kwJyIÄ IW¡m¡pI

The difference between two numbers is
6,product 16. Find the numbers

7 Hcp kwJybpsS hÀ¤‾nð\nópw kwJybpsS 6a-
S§v Ipd¨mð 40In«pw. kwJy IW¡m¡pI
When 6 times a number is subtracted from
its square we get 40. Find the number

8 Hómw]Zw 4Dw s]mXphyXymkw 2Dw Bb kam´-

ct{iWnbpsS BZy]Zw apXð XpSÀ¨bmb Iptd

]Z§Ä Iq«nbt¸mÄ 40In«n. F{X ]Z§fmWv

Iq«nbXv

The first term and common difference of an
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arithmetic sequence are 4 and 2. The sum
of some numbers of the sequance from the
beginning of the sequence is 40. How many
numbers are added?

9 Hcp kwJybpsSbpw AXnt\mSv 6Iq«nbXnsâbpw
KpW\^ew 160Bbmð kwJy F{XbmWv ?

The product of a number and six times it
gives 160. Find the numbers

10 4, 10, 16 · · ·Fó kam´ct{iWnbpsS BZys‾

F{X ]Z§Ä Iq«nbmð 252In«pw.
How many terms of this squence makes the
sum 256 in an order

11 ASp‾Sp‾pÅ cïv HäkwJyIfpsS hÀ¤§-

fpsS XpI 202Bbmð kwJyIÄ GsXñmw?

The product of the squares of two consec-
utive odd numbers is 2020. Find the num-
bers

12 cïv kwJyIfpsS XpI 50,hÀ¤§fpsS XpI

2050Dw Bbmð kwJyIÄ IW¡m¡pI

The sum of two numbers is 50. Sum of its
product is 2020. Find the numbers

16. {]iv\]cnlmcw kq{XhmIyw D]tbmKn¨v

Solving problems by Formula

1 Hcp ISbnð DÅ 360 Ifn¸m«§Ä ASp¡nsh¨n-
cn¡póXv C{]ImcamWv . Gähpw XmsgbpÅ

hcnbnð 30Ifn¸m«§fpïv . AXn\v sXm«p-

apIfnepÅ hcnbnð 29F®w . AXn\v apI-

fnse hcnbnð 28F®w .C§s\ {Ia‾nð ASp-

¡nbmð Gähpw apIfnse \ncbnð F{X Ifn¸m«-

§Ä DïmIpw ?

The toys are arranged in a shop in a special
manner.The bottom row has 29 toys, row
just above it contains 28 toys. The numebr
of toys make an arithmetic sequence . If
there are 360 toys ,find the number of toys
in the top row

2 6sâ XpSÀ¨bmb cïv KpWnX§fpsS KpW\ -̂

e‾nsâ IqsS 9Iq«nbmð 729In«pw. kwJyIÄ
GtXms¡bmWv ?

When 9 is added to the product of two con-
secutive multiples of 6, we get 729. Find the
numbers

3 Hcp ka]mÀiz{XntImW‾nsâ ]mZhit‾¡mÄ

cïv IpdhmWv DóXn. ]c¸fhv 12NXpc{isk-
âoaoäÀ Bbmð {XntImW‾nsâ hi§Ä IW-

¡m¡pI

The altitude of an isoscles triangle is 2 less
than its base. Area is 12square unit. Find
the sides of the triangle

4 9, 11, 13 · · ·Fó kam´ct{iWnbpsS BZys‾

Ipd¨v ]Z§fpsS XpItbmSv 16Iq«nbt¸mÄ
256In«n. F{X ]Z§fmWv Iq«nbXv ?
When 16 is added to the sum of some terms

of the sequence 9, 11, 13 · · · we get 256.
Find the number of terms

5 HcmÄ 300IntemaoäÀ Zqct‾bv¡v Htc thKX-

bnð kôcn¡póp. thKX 10IntemaoäÀ /a-
Wn¡qÀ Iq«pIbmsW¦nð 1aWn¡qÀ t\cs‾
F‾pambncpóp. kôcn¨ thKX IW¡m¡pI

A train travels the distnce 300 km in a uni-
form speed. If it travles with the speed 10
more it can reach 1 hour earlier. Calculate
the speed of the train

6 Hcp Xohïn 360IntemaoäÀ Zqcw Htc thKXbnð
kôcn¡póp. thKX 10IntemaoäÀ Iq«pbbm-

sW¦nð 3aWn¡qÀ t\cs‾ F‾pambncpóp.

kôcn¨ thKX IW¡m¡pI

A train travels the distnce 360 km in a uni-
form speed. If it travles with the speed 10
more it can reach 3 hour earlier. Calculate
the speed of the train

7 Hcp IS¡mc³ 1200cp]bv¡v Htc Xc‾nepÅ

Iptd _p¡pIÄ hm§n.]‾v _p¡pIÄ IqSn hm-

§nbncpsó¦nð Hcp ]pkvXI‾n\v 20cq] Ipd-
¨v In«pambncpóp. F{X _p¡pIfmWv hm§nb-

Xv

A shopkeeper purchased some books for
1200 rupees. If is pruchased 10 more books
he would get the books 20 rupees less for
each book. How many books he purchased

8 AcpWnsâ 3hÀjw ap³]pÅ {]mb‾nsâ hypð-

{Iahpw 5hÀj‾n\v tijapÅ {]mb‾nsâ

hypð{Iahpw Iq«nbt¸mÄ 1

3
. Ct¸mgs‾ {]m-

bw IW¡m¡pIThe sum of the reciprocals
of Arun’s age before 3 years and the after
5 years is 1

3
.

8 HcmfpsS ]Xn\ôv hÀjw ap³]pÅ {]mb‾nsâ

hÀ¤amWv ]Xn\ôv hÀj‾n\v tijapÅ {]m-

bw . Ct¸mgs‾ {]mbw IW¡m¡pI A mans
age after 15 years will be the square of his
age before 15 years .

9 HcmfpsS 5hÀj‾n\v ap³]pÅ {]mb‾nsâbpw

9hÀj‾n\v tijapÅ {]mb‾n\v tijapÅ {]m-

b‾nsâbpw KpW\^ew KpW\^ew 15BWv.

Ct¸mgs‾ {]mbw IW¡m¡pI

10 cïpt]cpsS {]mb§fpsS XpI 20BWv. 4hÀjw
ap³]v {]mb§fpsS KpW\^ew 48BWv. C‾-

cw Hcp kmlNcyw DïmIptam? hniZoIcn¡pI

The product of the ages of two men is 20.
The product of the eages 4years earlier is
48.Find the present ages

11 XpSÀ¨bmb aqóv F®ðkwJyIfpsS hÀ¤§-

fpsS XpI 110BWv. kwJyIÄ IW¡¡pI.

The sum of the squares of three consecutive
natural numbers is 110. Find the numbers

12 Hcp cï¡kwJybpsS A¡§fpsS KpW\^ew

12BWv. kwJytbmSv 36Iq«nbt¸mÄ In«pó
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kwJy BkwJybpsS A¡§ÄØm\w amän Fgp-

Xpó kwJybmWv. BZykwJy IW¡m¡pI

The product of the digits of a two digit
number is 12. When 36 is added to this
number we get another two digit number
having reversed the digits. Find the num-
ber.

13 Hcp kwJybpsSbpw AXnsâ hypð{Ia‾nsâbpw

XpI 2 1

30
BWv. cïmwIrXn kahmIyw cq]oIcn¨v

kwJyIW¡m¡pI

The sum of a number and its reciprocal is
2 1

30
Form a second degree equation find the

number

14 cïv kwJyIfpsS XpI 9,AhbpsS hypð{Ia§-
fpsS XpI 1

2
. kwJyIÄ IW¡m¡pI

The sum of two numbers is 9, the sum of
its reciprocals is 1

2
. Find the numbers

15 Hcp `nókwJybpsS Awiw tNZt‾¡mÄ 3Ip-
dhmWv.tNZ‾Sv 1Iq«nbt¸mÄ In«pó ]pXnb

`nókwJy BZy `nókwJytb¡mÄ 1

15
IpdhmWv.`n-

ókwJy IW¡m¡pI

The numerator of a fraction is 3 less than
its denominator. When 1 is added to the
denominator the new fraction is 1

15
less

than the first fraction.Find the fraction

16 cïv ss]¸pIÄ Hón¨v {]hÀ‾n¸n¨v Hcp Sm¦v

3 1

13
an\näpsImïv \nd¡mw. Hcp ss]¸v Häbv¡v

{]hÀ‾n¸n¨mð atä ss]¸v Häbv¡v {]hÀ‾n-

¸n¡póXnt\¡mÄ aqópan\näv IqSpXð kabw

thWw Sm¦v \ndbv¡m³ . Hmtcm ss]¸pw F{X

kabw sImïv Sm¦v \ndbv¡pw

Two pipes together can fill a tank is 3 1

13

minutes.When one pipe works alone ,it
takes three minutes more than the time
taken by the other pipe to fill the tank. Cal-
culate the time taken by the each pipe to
fill the tank

17 Hcp ¢mknse Ip«nIÄ Fñmhcpw ]ckv]cw k½m-

\§Ä ssIamdn. BsI 132ssIamäw sN¿s¸Sp-
óp F¦nð ¢mknð F{X Ip«nIÄ DïmIpw ?

Each student of a class exchange present to
every other students . If there are 132 ex-
changes in total,find the number of students
in the class

18 cïv kaNXpc§fpsS ]c¸fhpIfpsS XpI 400.
NpäfhpIÄ X½nepÅ hyXymkw 16Bbmð kaN-

Xpc§fpsS hiw IW¡m¡pI

The sum of the areas of two squares is
400.The difference between their perimeters
is 16. Find the side of the squares

19 x2 + px − 4 = 0Fó kahmIy‾nsâ Hcp ]cn-

lmcamWv −4. IqSmsX x2+px+q = 0Fók-

ahmIy‾n\v Hcp ]cnlmctabpÅq . p, qFónh

IW¡m¡pI

−4 is a solution of the equation x2+px−4 =
0. The equation x2 + px + q = 0 has only
one solution. Find p and q

20 Hcp cïmwIrXn kahmIyw ]IÀ‾nsbgpXnb-

t¸mÄ xCñm‾ kwJy −24\v ]Icw 24Fsógp-
Xn. D‾cw In«nbXv 4, 6FónhbmWv. icnbmb
{]iv\‾nsâ D‾cw Fs´ms¡bmWv .

While copying a second degree equation,
the constant term is copied as 24 instead
of −24. The answers of this equation are
4and6. Find the correct answers

21 NXpcmIrXnbnepÅ Hcp ]mÀ¡nsâ hoXn \oft‾-

¡mÄ 3aoäÀ IpdhmWv. Cu ]mÀ¡n\v ASp‾mbn

ka]mÀiz{XntImWmIrXnbnð asämcp ]mÀ¡pïv

. AXnsâ ]mZhiw NXpc¸mÀ¡nsâ hoXntbmSv

tNÀóv \nð¡póp. B hit‾bv¡Å DóXn

12aoäÀ BWv. NXpc¸mÀ¡n\v {XntImW¸mÀ¡n-

t\¡mÄ 4NXpc{iaoäÀ IqSpXð ]c¸fhpïv .

NXpc¸mÀ¡nsâ \ofhpw hoXnbpw IW¡m¡pI

The length of a rectangular park is 3less
than its breadth. There is an equilat-
eral triangular park aside of the rectangu-
lar park. The base of the triangular park
coincides the breadth of the rectangular
park. The altitude of the triangular park
is 12meter. If the area of the rectangular
park is 4 more than the area of the triangu-
lar park, calculate the length and breadth
of the rectangular park

22 Npähv 8skâoaoädpw ]c¸fhv 5NXpc{iskâ-
aoädpapÅ NXpcw hc¡m³ km[yamtWm? c-

ïmwIrXn kahmIyw D]tbmKn¨v Øm]n¡pI

Can you construct a rectangle of perimeter
8 and area 5. Justify your answer

23 44aoäÀ hi‾nsâ \ofapÅ Hcp kaNXpcØeap-

ïv . AXnsâ \Sphnembn kaNXpcmIrXnbnð

Hcp ]pð‾InSnbpïv . AXn\v Npäpw Htc ho-

XnbpÅ Hcp \S¸mXbpapïv .]pð‾InSn \nÀ-

½n¡póXn\v NXpc{iaoädn\v 2.75cq]bpw \S¸m-
Xbv¡v NXpc{iaoädn\v 1.50cq]bpw sNehpïv
. BsI 4904cq] sNehpïv . \S¸mXbpsS

hoXn IW¡m¡pIThere is a square land of
side 44 meter square. There is a square
lone inside the land and a square path way
around it .Both pathway and lone together
cover the entire land. The cost of repairing
lone is 2.75 rupees per meter square and
1.50 rupees for pathway. If the total cost is
rupees4904 rupees ,calculate the width of
the pathway

24 Hcp a«{XntImW‾nsâ IÀ®w Gähpw sNdnb h-

i‾nsâ cïpaS§nt\¡mÄ 6IqSpXemWv. aqóm-
as‾ hiw IÀ®t‾¡mÄ 2IpdhmWv . hi§Ä
IW¡m¡pI
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The hypotenuse of a right triangle is 6more
than twice its smallest side.The third side
is 2 less than its hypotenuse. Calculate the
sides of the triangle.

25 cïv ss]¸pIÄ Hón¨v {]hÀ‾n¸n¨v Hcp Sm¦v

3 1

13
an\näpsImïv \ndbv¡mw . Hcp ss]¸v Hä-

bv¡v {]hÀ‾n¸n¨mð atä ss]¸v Häbv¡v {]hÀ-

‾n¸n¡póXnt\¡mÄ aqópan\näv IqSpXð ka-

bw thWw . Hmtcm ss]¸pw F{Xkabw sImïv

Sm¦v \ndbv¡pw ?

Two pipes together can fill a tank is 3 1

13

minutes. One pipe fills the tank three min-
utes more than the time taken to fill the
tank by other pipe. How long will take by
each pipe to fill the tank

17. cïmwIrXn _lp]Zw cïv HómwIrXn _lp]Z§fpsS

KpW\^eambn FgpXpóXv

The process of writing a second degree polyno-
mial as the product of two first degree polyno-
mials

1 2x2−x−1Fó _lp]Zs‾ HómwIrXnbnepÅ

cïv _lp]Z§fpsS KpW\^eambn FgpXpI

Write 2x2−x−1 as the product of two first
degree factors

2 x2 + 13x + 12Fó _lp]Zs‾ HómwIrXnbn-

epÅ cïv _lp]Z§fpsS KpW\^eambn Fgp-

XpI

Write x2 + 13x + 12 as the product of two
first degree factors

3 6x2−7x+2Fó _lp]Zs‾ cïv HómwIrXn

_lp]Z§fpsS KpW\^eambn FgpXpI

Write 6x2 − 7x + 2 as the product of two
first degree factors

4 x2 − x+ 1s\ cïv HómwIrXn _lp]Z§fpsS
KpW\^eambn FgpXm³ km[n¡ptam? F´p-

sImïv ?

Write x2 −x+1 as the product of two first
degree factors

18. aqómwIrXn _lp]Zs‾ HómwIrXn _lp]Zw sImïv

lcn¨v lcW^ehpw inãhpw ImWpóXv

Process of dividing a third degree polynomial by
a first degree polynomial

1 x3 − 3x2 + 5x− 2s\ x− 1sImïv lcn¨v l-
cW^ehpw inãhpw IW¡m¡pI

Find the quotient and remainder when x3−
3x2 + 5x− 2 is divided by x− 1

2 x3 − 5x2 + 2x− 3s\ x+ 1sImïv lcn¨v l-
cW^ehpw inãhpw IW¡m¡pI

Find the quotient and remainder when x3−
3x2 + 5x− 2 is divided by x+ 1

3 x3 − 6x2 + 4x+ 7s\ x+ 2sImïv lcn¨v l-
cW^epw inãhpw IW¡m¡pI

Find the quotient and remainder when x3−
3x2 + 5x− 2 is divided by x+ 2

19. inãkn²m´hpw {]tbmKhpw

Remainder theorem and its application

1 x3 +4x2 − 3x− 6Fó _lp]Z‾nsâ LSIam-

tWmx− 1Fóv ]cntim[n¡pI
Check whether x−1 is a factor ofx3+4x2−
3x− 6 or not

2 3x3 − 10x2 + 9x− 2s\ 3x− 1sImïv lcn¨m-
epÅ inãw F{Xbmbncn¡pw

What is the remainder when 3x3 − 10x2 +
9x− 2 is divided by 3x− 1

3 x3+4x2−7x+6s\ x+1sImïv lcn¨mð in-

ãw IW¡m¡pIWhat is the remainder when
x3 + 4x2 − 7x+ 6 is divided by x+ 1

4 2x3+kx2+17x−2s\ x−2sImïpw x−3sIm-
ïpw lcn¡pt¼mÄ Htc inãw In«póp. kbpsS
hne IW¡m¡pI. 2x − 1FóXv Cu _lp]Z-
‾nsâ LSIamtWm Fóv ]cntim[n¡pI

The polynomial 2x3 + kx2 + 17x− 2 leaves
the same remainder on dividing by x − 2
and x− 3. Find the value of k

20. LSIkn²m´wFactor theorem

1 2x3 − x2 + 7x− 1t\mSv GXv kwJy Iq«nbmð
x+ 1LSIamb _lp]Zw In«pw ?

What should be added to 2x3−x2+7x− 1
to make x+ 1 a factor of this polynomial

2 2x3 + x2 − 2x− 1Fó _lp]Z‾nsâ LSIam-

tWmx2 − 1Fóv ]cntim[n¡pI
Check wheter 2x3+x2−2x−1 has a factor
x2 − 1

3 ax3+b2+cx+dFó_lp]Z‾nsâ LSIamWv

x2 − 1F¦nð a = −c, b = −dFóv sXfnbn¡p-
I

If ax3+b2+cx+d has a factor x2−1,prove
that a = −c, b = −d

4 xn−1, xn+1Fóo _lp]Z§fnð n\v GXpXcw
kwJymhne \ðIpt¼mgmWv x + 1Cu _lp]Z-
‾nsâ LSIamIpóXv

What values of n makes x + 1 a factor of
xn − 1and xn + 1

5 x3 + x2 + x + 1, x3 + 1Fóo _lp]Z§Ä¡v
s]mXphmb HómwIrXn _lp]Zw FgpXpI

Write the first degree factor of
x3 + x2 + x+ 1, x3 + 1

21. LSI{IobIÄ

• P (x) = x3 + x2 + xFó _lp]Zhpw Hcp

kwJybpw Iq«n Q(x)Fó _lp]Zw cq]oIcn¡-

Ww .Q(x)sâ LSIambncn¡Ww (x + 1)F¦nð
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